HIWIN.

C27TE001_1903

HIWIN.

Motion Control and System Technology

TM Plug&Play Version

REZKIEHE

Quick Installation Guide

ERBFERODBERLE
HIWIN TECHNOLOGIES CORP.




HIWIN.

C27TEO01_1903
TM Plug & Play Version Date: 2019.03.08 | Page: 01

O L. AUS | INtrOAUCHION ..o s s s s s seans 02
® 2.TM Plug & Play Version: Electric gripper X-Seri€s .......ovevrerrerreerrnennnn, 03
o 2-1. 2R | System CONSIIUCHION ..o, 04

o 2-2.FEEE | CUIrent DIagram .....ccveeeeeeeeeeseeeeeeeeeeeeeeseeeeeesees oo 05

. 2-3.1/OFERAR(CNI)MIMIER | I/O Signal Cable (CN3) Pin Define ............. 06

« 2-4 XEG-loHE#EHAAFE R | XEG-16 Adapter Assemble Flow ................... 07

« 2-5.XEG-328#E AR | XEG-32 Adapter Assemble Flow ................... 08

« 2-6. XEG-648E AR | XEG-64 Adapter Assemble Flow .................... 09

® 3.TM Plug & Play Version: Integrated electric gripper S-series ..........cu...... 10
o 3-1. ZBHZEEE | System CoNSTrUCTION ..o 11

¢ 32 BAMITETR | PiN DEIING oo e se e 12

« 3-3.SEG-04E i AAEE7RE | SEG-04 Adapter Assemble Flow .................. 13

« 3-4.SEG-24EEMAAIERE | SEG-24 Adapter Assemble Flow ................... 14

« 3-5.STG-l6EE AL R | STG-16 Adapter Assemble Flow ................... 15




HIWIN.

TM Plug & Play Version

C27TE001_1903

Date: 2019.03.08 | Page: 02

==

| Introduction

it

® A
RREFMENEEREAE - R
COEREFEEESS S - BaK
HREREFME - cJLUBUETES
HUIRTE - Iﬁﬁﬁ’alxﬂlbﬁr&“ﬁ’f
miEm LIEBE - FRLURIEESRT -
n¥ A BRI RE IR VEMHRERR AR - L/(Eﬁﬁb%aff}”lﬁ
NETRABRIEZE -
RBEFMBERAREHKINXZS]
BASz4&EE TM5 / TM12 / TM14 &

H

® Introduction

After reading this manual thoroughly,
operator can not only familiar with
product, but also can operate product
completely  independently.  While
operating product, use the method
recommended in this manual to avoid
product damage or personal injury.

This manual is applied to electric
gripper X-series and S-series with TM5
/ TM12 / TM14.




HIWIN.

C27TE001_1903

TM Plug & Play Version Date: 2019.03.08 | Page: 03

2. TM Plug & Play Version: Electric gripper X-series

o ﬂ?‘m%ﬁifﬁﬁu
XEG-32-C15L5-W1-TM
o 1RERCH:
1. EFHKMx1pcs
EENHTHEHZE x 1 pcs
TM Robot#1 A 4 x 1 set
BBIEAR (5m-L) x 1 pcs
I/OH5E4R (5m) x 1 pcs
USB fE#4R (1.5m) x 1 pcs
FIREREES x 1 pcs

No kA WwWhN

® Model number example:
XEG-32-C15L5-W1-TM

® Standard shipping items:

Electric gripper x 1 pcs

Electric gripper controller x 1 pcs
TM Robot adapter x 1 set
Actuator cable (5m-L) x 1 pcs
I/0O signal cable (5m) x 1 pcs

USB cable (1.5m) x 1 pcs

Power plug x 1 pcs

NowuvhkhwnN



HIWIN.

C27TE001_1903

TM Plug & Play Version Date: 2019.03.08 | Page: 04

2-1. #2488 | System Construction

TM #z3F 8
TM robot arm

T™M EZF8
TM controller box

EIRAR (DC24V) I/OH FR 4R
Power cable (DC24V) I/0O signal cable
o omER UslEms | B |
Actuator cable (6 HIWINossc USB cable | . —
£
. : | ]
BE KX Z 5 BB AT\ Hl 25 BENR TR EEFS

Electric gripper X-series Electric gripper controller Electric gripper software



HIWIN.

C27TE001_1903

TM Plug & Play Version Date: 2019.03.08 | Page: 05

2-2. Bi&E | Current Diagram

e Controller o Mcontroller

™ 4
TM Controller box

Name Illustration

PWR Power supply lamp (Green)

ALM Error status lamp (Red) :
24V/0v Power supply terminal l
CN2 Communication terminal [ 1 1

CN3 I/O connector ® Actuator Cable SE—

|
|
L{ ETeT [E

® Power Supply (DC24V)

XEG-CL

Bl B2 B3 B4 Bb B6 B7

ooooooo

¥
¥
¥
¥

]
LI
]

[HLX
/)
[I00E
:l
n
L

/
i
m i g

l |
l |
l |
l |
l |
l |
l |
l |
l |
l |
l |
l |
l |
l |
l |
| CN1 Actuator terminal I
l |
l |
l |
l |
l |
l |
l |
l |
l |
l |
l |
l |
l |
l |
l |




HIWIN.

C27TE001_1903

TM Plug & Play Version Date: 2019.03.08 | Page: 06

2-3. I/ONER4R (CN3)MIfiIES | 1/0 Signal Cable (CN3) Pin Define

% R R IEVAREE S TMZHIF8
No. Wire color Pin define TM Control Box
Al | Black 1S #RHE bit0 | INO DO.1
A2 #I | Red 5SS #RAE bitl | IN1 DO.2
A3 = | Yellow 1SS 4RIE bit2 | IN2 DO.3
A4 g | Blue 5SS 4RES bit3 | IN3 DO.4
A5 X | Grey IS #RIE bitd | IN4 DO.5
A6 ZKEE | Light Blue #MiTin< | START DO.6
A7 #=/2 | Brown/Black H25(+) | COM+ 24V
Bl #= | Brown M= EED | BUSY DL1
B2 f& | Orange RiZEBEER | HOLD DL.2
B3 # | Green EERERHE | ALM-CODEL DI.3
B4 2% | Purple FEEREEHS | ALM-CODE?2 D14
B5 B | White YEEEAES | CHK-CODEL DL5
B6 %% | Light Green YIS | CHK-CODE2 DI.6
B7 H/2 | White/Black H2(-) | COM- GND

o E[REEETM RobotBZEM ZMIMUME - FHIREZEAZTM RobotiEREAR A K EAHH B 2 1ERSiRAAZE R -

® Please follow your TM Robot’ s User Manual in accordance with the hardware version to have the
correct connector location of each pin.




HIWIN.

C27TE001_1903

TM Plug & Play Version Date: 2019.03.08 | Page: 07

2-4. XEG-168E 1% 43572 | XEG-16 Adapter Assemble Flow

11 Bolt M4X0.7PX6L SUS304 4
10 Spring washer M4 SUS304 4
9 Pin P6X10L 2
8 Bolt M3X0.5PX5L SUS304 4
7 Spring washer M3 SUS304 4
6 | XEG-16 adapter — 1
5 Pin B2X4.4L 2
4 Bolt M6X1PX8L SUS304 4
3 Spring washer M6 SUS304 4
2 TM5 adapter — 1
1 Pin P6X10L 1
Items Parts Description Amount
XEG-16 & TM5/12/14




HIWIN.

C27TE001_1903

TM Plug & Play Version Date: 2019.03.08 | Page: 08

2-5. XEG-328E 154372 | XEG-32 Adapter Assemble Flow

11 Bolt M4X0.7PX6L SUS304 4
10 Spring washer M4 SUS304 4
9 Pin $6X10L 2
8 Bolt M4X0.7PX6L SUS304 4
7 Spring washer M4 SUS304 4
6 XEG-32 adapter — 1
5 Pin B3X4L 2
4 Bolt M6X1PX8L SUS304 4
3 Spring washer M6 SUS304 4
2 TMS adapter — 1
1 Pin $6X10L 1
Ttems Parts Description Amount
XEG-32 & TM5/12/14




HIWIN.

C27TE001_1903

TM Plug & Play Version Date: 2019.03.08 | Page: 09

2-6. XEG-6485 151432 | XEG-64 Adapter Assemble Flow

11 Bolt MEX1PX8L SUS304 4
10 | Spring washer M6 SUS304 4
9 Pin PoXEL 2
8 Bolt MBX1PXBL SUS304 4
7 Spring washer M6 SUS304 4
6 | XEG-64 adapter — 1
5 Pin P5x6L 2
4 Bolt MEX1PXBL SUS304 4
3 | Spring washer M6 SUS304 4
2 TMS adapter — 1
1 Pin 26X 10L 1
Items Parts Description Armount
XEG-64 & TM5/12/14




HIWIN.

TM Plug & Play Version

Date: 2019.03.08

C27TE001_1903

Page: 10

3. TM Plug & Play Version: Integrated electric gripper S-series

o RISRRIRERHI:
SEG-24-TM
o REFMH:
1. EBGAEHKTx 1 pcs
2. TM Robot#E# A= x 1 set
3. S-TMER#E4R x 1 pcs

® Model number example:
SEG-24-TM
® Standard shipping items:

1. Integrated electric gripper x 1 pcs
2. TM Robot adapter x 1 set
3. S-TM actuator cable x 1 pcs




HIWIN.

TM Plug & Play Version

Date: 2019.03.08

C27TE001_1903

Page: 11

3-1. #2488 | System Construction

S'TM %l%%ﬁ;lﬂ?
S-TM
actuator Cable

B BEERNSHS!
Integrated electric

gripper S-series

TM #z:3FE
TM robot arm

™ EiZ55
TM controller box

______________




HIWIN.

TM Plug & Play Version

C27TE001_1903

Date: 2019.03.08 | Page: 12

3-2. W% | Pin Define

® 8-pin digital I/O connector of robot

Pin Pin Define

1 |+24v 24 OUTPUT

2 |DLO Digital Input0

3 |DL1 Digital Inputl
4 |Dl 2 Digital Input2

5 |DOO Digital Output0
6 |DO_1 Digital Outputl
7 |DO_2 Digital Output2
8 [+0v +0v

® 6-pinI/O connector of gripper

Pin

—_—

£~ W N

6

7

Pin definition

1/0
IN1
IN2

ouT1
VCC
GND

ouT2

Function

Ready
DIR (0/C)
Busy

24V/0.5A
oV

Alarm [Note 1]

Shielding

[Note 1] SEG-24 only




HIWIN.

TM Plug & Play Version

Date: 2019.03.08

C27TE001_1903

Page: 13

3-3.S

EG-048E i R4A5E 72 | SEG-04 Adapter Assemble Flow

7 Bolt M6X1PX8L SUS304

6 Spring washer M6 SUS304

5 Pin p6X10L

4 Bolt M3X0.5PX6L US304

3 Spring washer M3 SUS304

2 Pin $3X10L

1 SEG-04 adapter -

No. Parts Description Amount

SEG-04 & TM5/12/14




HIWIN.

TM Plug & Play Version Date: 2019.03.08

C27TE001_1903

Page: 14

3-4. SEG-24E1E R4 RTE | SEG-24 Adapter Assemble Flow

11 Bolt M4X0.7PX16L SUS304 4
10 Spring washer M4 SUS304 4
9 Pin p6X10L 2
8 Bolt M6X1PX8L SUS304 4
7 Spring washer M6 SUS304 4
6 Pin p6X10L 1
5 TM adapter - 1
4 Bolt M3X0.5PX8L US304 4
3 Spring washer M3 SUS304 4
2 Centering sleeve @5Xp3X4L 2
1 SEG-24 adapter - 1

No. Parts Description Amount

SEG-24 & TM5/12/14




HIWIN.

TM Plug & Play Version Date: 2019.03.08

C27TE001_1903

Page: 15

3-5. STG-168E &R 4A3E7TE | STG-16 Adapter Assemble Flow

11 Bolt M5X0.8PX12L SUS304 3
10 Spring washer M5 SUS304 3
9 Pin paX6L 2
8 Bolt M5X0.8PX12L SUS304 3
7 Spring washer M5 SUS304 3
6 Pin p6X10L 2
5 STG-16 adapter - 1
4 Bolt M6X1PX8L SUS304 4
3 Spring washer M6 SUS304 4
2 Pin p6X10L 1
1 TM adapter - 1

No. Parts Description Amount

STG-16 & TM5/12/14




